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X y z
[x1, value = f(R)] [x2] y1, value=g(N) [y2] z1, value =h(N) [22]
[name=0, Value = R] [name=0, Value = R] [name=0, Value = R]

This is the "stage tree”.. It start in node named O, and contains some value R (real number). After node x, there is a terminal leaf [with name x1 and
value f(R)] and another "leaf” after x2 after which O is "repeated”. After node y, there is a terminal leaf [y1] with value g(R) and another leaf y2 after
which if follows again the stage tree that starts in O. The same in z.



